Math 120

Review Sheet: Radical Expressions

Simplify.

1) -8\ 144p*

3) 6\ 200r*

5) 8N 112n

7) 2N 128m*n

9) 7/210y

11) 2N45p*q’r?

13) -N8xy*z

15) 8\ 70hjk

17) Nér - —\8r

19) N/'3b - 4N 3b°

21) Ve ax +2V5)

23) A15(W3 = 5¢/5)
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2) =5\ 343n°

4) 33'100x

6) 5\/80xy°

8) /30y

10) =5\ 18x%y*
12) 63227

14) —4N 320ab*c?

16) \3x° -A6x

18) Nén* -A151°

20) NV 12vP A 1207

22) N6(W2 +/3n)

24) \3(\3 +2)



25) V/5x(W5x — 3W/2) 26) (=5 — 47/2n)(=3 +~/2)

27) (<2V/5 +/3)W5x +4/3) 28) (=372 = 5)(4\/2 +3)
29) (=4 — 4/3)(5 + 53/3x) 30) (N2 -3p)W2 +4/3)
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N 2m +N 2m?

49
) \/2m2 - 2\/5m3

51) 24/6 — 354

53) 24/3 +3\/3

55) 376 — 2024

57) 3\/45 -6 — 354

59) =378 =227 —A/12

61) —3\'8 —\/45 -2 + 35

63) 276 — 3324 — 2724 + 345

65) —3\5 + 3718 — 36 - 318

50) ﬁ

52) 35 - 3720

s4) 20/6 -6

s6) 33 - 202 + 2012

58) 12 -\2 -3

60) 6 +3\8 + /6

62) —2\/5 - 33— 32 — /a5

64) 273 =220 -V 12 - W24

Solve each equation. Remember to check for extraneous solutions.

66) V3—a+8=8
68) V18 —-2x =2

70) 3=-34+~N17n+2

72) N3x =20 =\x -2

74) Ndn—1=~2n+3

67) 70=10Nv+3

69) -6Nx+3 =-18

71) N=1 = 7k =1 = 5k

73) N36 - p =\/%

75) N3m—7 =N2m -2



76) r=~/8r 77) x=-1+\6x+6



Answers to Review Sheet: Radical Expressions (ID: 1)

1) ~96b° 2) =35mI7n 3) 60r2 4) 307 x

5) 3\ 7n 6) 20\ 5xy 7) 16nm\2n 8) 20/30y

9) 77210 10) 1572 11) 6p2gn5¢ 12) 24x22 22
13) -2V 2xz 14) =32b*c\5 15) 8\ 70hjk 16) 3x*

17) —8/3 18) 31\ 107 19) 126° 20) 12v°

21) 24/3x + 20/30 22) W3 +3\2n 23) 35 -25\3 24) 3+ 203
25) 5x— 3\ 10x 26) 15- N2 + 1V -8\ 27) —10vx = 2V15 +/15x + 3
28) -39 — 2002 29) 20— 20V 3x + 203 —60Nx  30) 4+ 2V6 -N6p -3 p

31) r\/TE 32) ig 33) i} 34) g
- \/6xy —\/5—%\/ 3\/§+\/_ - N3k — 415k
18k
—r’\/_r —Ar 3\/_ Sm\/_ ) 16b3\/_ w000, ) 161 + 4n\5n
17m? 80b° — 25 16 — 5n
5 —12+3 gx gy 25020V 25n+20\/_ 15 20— 122
16x—2x 25n% — 16n 25 - 18x
16 30" 4p\/_+15 W2, 35k — 20k k — 33k + 415k
—-32p 9% — 80k>
48) r+3\/_—r2\/_ r‘\/_ 49) 2\/_+2m\/_0+m+m 10m
3rr—r — 10m?
5 16 — 4m\/3 — axsn + m\15n 51) -6 52) -3/
16n - 3n°
53) V3 54) A6 55) /6 56) 7N3 -2
57) 5 —10V6 58) —3\/3 -2 59) —6\/2 — 83 60) V6 + 672
61) -2 62) —8\5 - 33 -2 63) -8\6 + N5
64) -5 -6 65) —3\/5 - 3W/6 66) {3} 67) {46}
68) {7} 69) {6} 70) {2} 71) {-1}
72) {9} 73) {30} 74) {2} 75) {5}

76) {0, 8} 77) {-1, 5}



